
Subject: Re: Contraception discontinuation
Posted by ASharma on Wed, 23 Mar 2016 05:41:59 GMT
View Forum Message <> Reply to Message

Just to add I found a miss match within RH calendar and current use.  For case ID 1703 102  2
the current use is female sterilization while the calendar data  shows non-use in last five year.
Even though this is one case, it will count as three when weighted. Further for Vcal_2, (reasons
for discontinuation) I noticed "?" as a value - not really sure what this means, (it could be missing
value) and how this has been adjusted in the table. 

Thank you.
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